
Drawing creation date :

Status :

Drawing Title :

Checked By :

Drawn By :

Scale @ A1 :

Client:

Site:

Welded Structural Components

Execution Class 2 BS EN 1090

A
u

t
o

C
a

d

H

G

F

E

D

C

B

A
31 2 54 876 11109 1312 14

Do not scale drawings.

This drawing and any associated information

use or disclosure to any third party is prohibited

Metalcraft Tottenham Ltd and any reproduction

appearing on it is the property of

unless expressly authorised by

Metalcraft Tottenham LtdC

General Notes

Tolerances of dimension and shape

EN 1090-2 Tolerance class 1

Weldability

EN 10025-2, S275 / S355 

Fracture toughness / impact resistance

S275JR (27J@20°C)

S355 (35J@20°C) 

Stainless 304 / 316

Load Bearing Capacity

Designed to BS5950 / EN 1993

Component Characteristics

Procedure Specifications (WPS)

Welds

All welds to comply to MTL Welding

Steel Specification

National Structural Steelwork 

Specification for Building Construction

5th Edition CE Marking 

Steel Grades

All SHS / RHS / CHS - S355 -J2

All UC / UB / PFC / RSA - S355-JR

All Plates - S275 - UNO

Metalcraft Tottenham Ltd

METALCRAFT

Tottenham Limited

6 - 40 Durnford Street

Seven Sisters Road

London   N15 5NQ

Tel:  020 8802 1715

Fax: 020 8802 1258

E mail: sales@makingmetalwork.com

DO NOT SCALE

23-03-2021

JR

5708-01-01

PROPOSED

GATES & SIDE PANEL

LYNDHURST GARDENS

GENERAL ARRANGMENT

PROJECT No. 5696

02

JR01 25-03-21ARRANGEMENT REVISED

JR02 31-03-21REVISED PER COMMENTS

PLEASE NOTE:

Site surveys will only be carried out once construction of all finished surfaces, including walls,

floors, stairs, balconies etc, have been completed. If we are instructed to carry out a site survey

before surrounding construction is complete, the result of which is that our metalwork requires

modification during installation, any costs we incur making these adaptions will be charged for.

AutoCAD SHX Text
LOCINOX GATE LOCK SURFACE MOUNTED 

AutoCAD SHX Text
GATE STOP FARSIDE 

AutoCAD SHX Text
ADJUSTABLE HINGES

AutoCAD SHX Text
ANGLE BRACKETS FIXED TO BRICKWORK WITH M10 RESIN ANCHOR + WASHER & DOME NUT

AutoCAD SHX Text
SIDE PANEL  TOP & BOTTOM RAILS 40x10 MSF,  16 MSINFILL BARS @ 100 GAP MAX'M

AutoCAD SHX Text
EXISTING PATHWAY

AutoCAD SHX Text
EXISTING GRASS AREA

AutoCAD SHX Text
PLAN VIEW

AutoCAD SHX Text
Z

AutoCAD SHX Text
ELEVATION VIEW ON Z

AutoCAD SHX Text
EXTG PATH EDGING BEYOND

AutoCAD SHX Text
EXISTING PATH EDGING

AutoCAD SHX Text
40x40x4 SHS POST SET IN CONCRETE

AutoCAD SHX Text
40x40x4 SHS POST FIXED TO BRICKWORK WITH 5-PAIRS OF M10 RESIN ANCHORS + WASHERS & DOME NUTS

AutoCAD SHX Text
 16 MS ANTI-SAGBAR SET IN CONCRETE

AutoCAD SHX Text
30x8 MS LUG PLATE c/w M10 BUTTON HEAD SCREW, WASHER & DOME NUT

AutoCAD SHX Text
30x8 MS LUG PLATE c/w M10 BUTTON HEAD SCREW, WASHER & DOME NUT

AutoCAD SHX Text
NOTES! ALL DIMENSIONS SHOWN ARE SUBJECT TO SITE SURVEY ALL FIXINGS ARE BRIGHT ZINC PLATED (SELF COLOUR) M10 RESIN ANCHORS INTO BRICKWORK 80 EMBEDMENT FINISH - PAINTED BLACK


	Sheets and Views
	Model


